LOSUNG zu bsp-5975-1/LHPK

Arbeitsblatt
28.07.2013
Kostenlos auf dw-aufgaben.de
Aufgaben-Quickname: 5975
Aufgabe 1
Setze <, > oder = ein.
a) 3+ 10(= 13) >10 b)) 1+32(=33) < (47 =)17 + 30
¢) 2+ 33(= 35) > 2 ) 6+29(=35) > (4=)3+1
) 3+5(=8) < (37T=)17+20  £)9+28(=37) > (13 =)4+9
937+ 11(=48) >34 W) 7+38(=45) > (2=)1+1
)5+ 31(=36) < (50 =)42+8  j)5< (18=)9+9
Aufgabe 2

Setze <, > oder = ein.

a) 69 > (64 =)144+50  b)2421(=23) <47 ¢ T+7(=14) <68

d) 20 + 45(= 65) < (66 =)29 + 37
f) 21 +20(=41) < (89 =)78 + 11
h) 11 + 12(= 23) < (95 =)27 + 68
i)9+47(=56) < 78

Aufgabe 3

Setze <, > oder = ein.

e)2+2(=4) >3

g) 42 + 44(=86) > (46 =)12 + 34

i) 8 < (20 =)8+ 12

A)5+3(=8)>4=)3+1  1)3+6(=9) < (14=)12+2
O16+1(=17)> (6=)2+4  d)9+5(=14) > (T=)4+3
e)2+13_15 <(182)17+1 H2+1(=3)<(5=)2+3

99> (6=)3+3 W5+3(=8)<(13=)2+11

1)3+2( 5) < (8=)5+3 PN24+3(=5) < (17=)12+5

Aufgabe 4

Setze <, > oder = ein.

A)3+24(=27)>23  04AT>(A=)3+1 ) 27< (20 =)17+12
4) 16 < (39 =)13+26 ¢ 38 < (43 =)37+6
H20<(20=)3+26 gd=(A=)1+3  h)3<(32=)14+18
)26=(26=)184+8  j)26> (16 =)6+ 10

Viel Erfolg!
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